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Sfelsow
(Mathematics)

26. (808 &S’ 5,3, 7 90800 &HAPA0D oo abiOT arenth woSw D8O W Dowg
20 7 3DYd BoSL WooTnyEo Jahdihy ? I

--------

Which of the following is the greatest four digited number, you can make by using all

three digits “5, 3, 7" and you may repeat the given digits 7

(1) 7533 (2) 7530
_ (3) 7753 (4) 7553
27. el woSe owges Iwso I ? | F—

How many four digited numbers are there in all ?

(1) 9999 (2) 8999
(3) 9000 (4) 9001
28. 63837 &° 3 Gbb¥) T dwvde Ivdo o 7 forsreres

What is the sum of the place values of *3” in 63837 7
(1) 3030 (2) 3837
(3) 3333 (4) 3000

20, D3 btk HEH w0SeT IEE rdoBy Dowgw 37 3 zeAoSoe Hilyy o
20 ? l

--------

X What is the remainder you can get, when 3 divides any three digit number which is

formed by any three continuous digits ?

(H 3 0

3 1 4 2
TM/EM {71




Q. Booklet
Code A

30. 5 Bdo wdy o Fddod rg38 Ju 124 Srdrabes s 42 Srgsde Ju

o 7 R
(1) 3218 Srardden (2) 5208 Grdeabes
(3) 5228 Sedrabes (4) 5308 Sraradens

Cost of 5 kg. wheat powder packet is T 124. What is the cost ot 42 packets ?

E (1) %5218 (2) ¥5208
| (3) T5228 ' (4) %5308
3L 926 +8 DO dod +7 Vo v = p—
(1) 0.009078 8.a). (2)  9.078 .
(3) 907.8 20.3b. (4) Y

Om+8nm+7cm=
(1) 0.009078 km (2) 9.078m

(3) 9078cm (4) Aboveall

oooooooo

32, 150.D.0 ghezo Hu B0 HiwEed Jod ? i
(1) 0.60 av. (2) 6.0 ob.
(3) 60 20.2. 4)  (1)%0ah (3)

What is the perimeter of the square, whose side is 15 em ?
(1) 0.60m (2) 60m

(3) 60cm 4 (1)and (3)
TM/EM 18]




Q. Booklet
Code A

3. 12 vo.dve TEY 8 VoD, & ey o BFBHIP S NS0 Wod 1 o.a.
ehezo e BHI|F e IN oD Todnvo ? |

oooooooo

Length and breadths of a rectangular paper are 12 cm and 8 cm. How many squares,

whose side is 1 em, can you get from the paper ?

(h 20 (2) 40
(3) 90 (4) 48
34, o oo dwd Jod 7 , [ererrees

What is the value of right angle ?
(1) 60° )  70°
(3) 80° 4y 90°

35, (800 3OS O Bf D BESHB|F 50 aotod ? ;

oooooooo

(1) &&55?.})"g§0 2) o038
(3) 5 &rarade S (4)  PdY

Which of the following object can make a shade of rectangular shape ?

(1) Textbook (2) Match box
(3) NoteofT5 : (4) Aboveall
36.  Bodes ErArodowD e (TR o) $HE|Sres aman 7 o—

How many squares are there in a “Tan gram”, which was designed by Chinese ?
(hy 7 2 5
(3) 1 4 2

TM/EM [9]
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37. 28 ghwo Feod EOAD 12 SHITred &harHod ) Jereor BB H GO

B8 vy ? |

--------

How many types of rectangles can you form by using 12 squares, whose sides are

equal ?
(H 12 2y 3
(3) 6 4 9

38, 1500.D. 8%, 700.0.0 Bbeny Ho BEBSHEF T8 5208 F70go 0 7 [
(1) 447200.32. (2) 105 0.2
(3) 44 BBELY Vo.ad. () 105 25e58%) 20.2.

Length and breadths of a rectangular paper are 15 cm and 7 cm What is the area of the

paper ?
(1) 44cm (2 105cm
(3) 44 square centimetre (4) 105 square centimetre

39, o wi S8 5 8% 750 vy e Bo@08. R Lrrd8 v @ o

oeer seard 7 | Tornences
(1) 173 8% — 750 [mtwes (2) 172 8% - 500 [miwes
i
]
(3) 172 8&% - 250 rritwen (4) 171 8% — 000 frdwes

5 kg—?SO gr. of fodder is given to a cow each day. What quantity of food is required for

feeding the cow for April month 7

(1y 173kg-750¢g 2) 172kg-500g
(3) 172kg-250g 4y 171 kg - 000g

TM/EM [10]
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40, 28 Sseerordieh 250 .8, Hoah 500 ».O.e o Srgaden wimdbond. o

§er wdd 6 00Y o 17 g3 S0t ey e, 28 odd J o rgsdes
IR @D Godrd ? [oerenns
(1) 250 20.5.-10 H00% 500 2.5.-7

(2) 250 .9.-9%8ak 500 2.O.-8

(3) 250 2.O.-8 %0ah 500 .09

4y 250 0.9.-758d% 500 2.8.-10

A salesman sold 250 mi and 500 m! milk packets. One day, he sold 17 packets with the

quantity of 6 liters. How many 230 mi and 500 mi packets did he sold ?
(1) 250 ml-10 & 500 mi-7

(2} 250 mi-9 & 500 mi-8

(3) 250 ml-8 & 500 ml-9

(4) 250 ml-7 & 500 ml-{0

4. 300 3RS @ D) HESHD % S (w0 8w, &8 DHom H0@08 7 fuu

4 3

Which of the following will not change its position on the 5 turn on right side ?

2
‘ o/ @ ﬁ
o O o \/

TM/EM [11]
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42. 288 Loah vorrobe Wiy wEdbo fHo. 9-30 .o | BoLRS ¥ (38 gD

Faho(Bo Ko. 4.45 .o TS, wona® & hrgd JodVy Fodrfod 7 |

--------

(1) &o.5.15d.e
2) #o. 6.45d.e
(3) #o.7.45d.e
(4) %o.7.15d.e

A cricket match between India and England was started at 9-30 AM and closed
at 4.45 PM. How much time did the both teams played ?

(1) 5 Hrs.— 15 min.

(2) 6 Hrs.—45 min.

(3) 7 Hrs. —45 min.

(4) 7 Hrs.— 15 min.

43, Bdohes IS ¥ WY (B0, “&rS (o & oy o ? {

--------

What is the part (fraction) of big Triangle in the “Tan gram” invented by Chinese ?

2
M 3 S

!
3 3 4 3

TM/EM {12]
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44, Sw '% S Hod VA Thardo, “it; b Hodh DA hodgardo Prd Ik, wdd

--------

205" Sod HAJ Wrd Baed ? i

7
Raghu completed of work on Monday and 75 13 on Tuesday. How much work shall be

complete ?
i
M 35 @ 3
1 5
3 1 4 1

43, (808 &AS® 3,4, 500D 10 © &nd thedezo 20 7 —
Which of the following is the common ﬁmltiple of3,4,5and 107
(1) 30 (2) 40
(3) 30 N

46. 49 W) s*Perosty Mo dod ? fecanenes
What is the sum of factors ot 49 ?
(1) 64 (2) 57
(3) 50 4y 36

47. wﬁéﬁ@"@% e e Bwe ¥ Nog oo 7 |-

How many symmetric lines are there in a square ?

()

[0
—
I~
s

(3) 4 : # 3
TM/EM [13]
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8. |Bod s F gD IS Swed EEA% wos 287 Louoeeees]
Which of the following number has more symmetric linegs”
(y 3 2y 5
3y 38 7
49.  (B08 &S Y 3 Fdyhore grRohnd Long 28 7 Frvvenens]
Which of the following number is divisible by A
(1) 068473 2y 84371
(3) 33742 (1) 34785
50, 3 . gy, 1 & 50 woane Rdeo) do BEIBITTE RS SHpSud
a0 ? o ]
(1) 4.5, (2) 900 0.5
|
| 3) 9. (4 (2)2Bai (3)
per are 3 m and 1 m 30 om. What is the

z
Length and breadths of a rectangular pa

perimeter of the rectangular paper 7
{2) 900 cm

(I 45m
4y (2yand (3)

(3) 9m
{14]
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